Maytag DG16CA 10 - BURNER ASSEMBLY

MODEL DGi6
BURNER ASSEMBLY

28

312206
szn
312207
— 33074
3-12483 ‘,-—3-3075
/ —— 311023 “
74— 312480
211410 31288
D

33202 NAT 31U

33203 LPG f 312208

312676
E 312302 211204
312368 32680
Copyright 1968 THE MAYTAG COMPANY © Newton, lowa ® Printed In USA. (Revised 11.73)
Maytag Residential Maytag DG16CA Dryer Parts Parts Diagram 10 - BURNER ASSEMBLY
Click on the part number to view part

001 NLA Not Available SEAL, DRUM COVER
002 NLA Not Available STATIONARY SHROUD
003 NLA Not Available PILOT SHIELD
004 NLA Not Available PILOT VALVE
005 Y301451 Not Available HIGH LIMIT THERMOSTAT
006 NLA Not Available MIXING CHAMBER
007 Y 302544 Not Available BURNER ASSEMBLY
008 NLA Not Available COMBUSTION CONE
009 Y302812 Main Burner Solenoid

. PILOT WITH PRESSURE
010 NLA Not Available SWITCH

) PIPE AND BRACKET
011 NLA Not Available ASSEMBLY
012 NLA Not Available SHUT-OFF VALVE
013 Y303202 Y302800 Gas Valve-
014 Y303203 12001114 Kit- LP GA

015 310207 Screw, No.6 X 1/4 Inch


http://www.pwslaundry.com/c-506194-residential-maytag-dg16ca-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10408749-maytag-y302812-dryer-main-burner-solenoid.html
http://www.pwslaundry.com/i-10414639-maytag-y302800-dryer-gas-valve.html
http://www.pwslaundry.com/i-10414719-maytag-12001114-dryer-kit-lp-ga.html
http://www.pwslaundry.com/i-10409180-maytag-310207-washer-dryer-screw-no-6-x-1-4-inch.html

016
017
018
019
020
021

022

023
024
025
026
027
028
029

030

031

032

033

034

035
036
037

NLA

Y310632 1163839

NLA
NLA
NLA
NLA

NLA

NLA

312302
312368 312302

NLA
Y312483

Y312484

NLA

NLA

NLA

NLA

211294 90767

NLA

NLA

Y014872

Not Available

Not Available
Not Available
Not Available
Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

NO LONGER AVAILABLE
Screw

STREET ELBOW, 3/8 INCH
BAND

AIR SHUTTER

TERMINAL BRACKET

COVER FOR TERMINAL
OPENING

SUPPORT AND COVER
Insulation, Exhaust Duct Kit
Insulation, Exhaust Duct Kit
GAS CONTROL BRACKET
PILOT TUBE

Pipe, 17-3/8 Inch

LEVER FOR PILOT

SCREW FOR MAIN
SOLENOID

VALVE COVER FOR 3-3202

PIPE SUPPORT PLATE-SQ
HOLE

Screw, 8A X 3/8 HeX Washer
Head Tapping

SCREW, HEX HD No.8 X 3/8
INCH

SCREW, No.6-20 X 3/8 INCH

Screw, Coin Meter Stop -


http://www.pwslaundry.com/i-10414714-maytag-1163839-washer-dryer-screw.html
http://www.pwslaundry.com/i-10410113-maytag-312302-washer-dryer-insulation-exhaust-duct-kit.html
http://www.pwslaundry.com/i-10410113-maytag-312302-washer-dryer-insulation-exhaust-duct-kit.html
http://www.pwslaundry.com/i-10407850-maytag-y312484-dryer-pipe-17-3-8-inch.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10412790-maytag-y014872-washer-dryer-screw-coin-meter-stop.html

	Maytag DG16CA 10 - BURNER ASSEMBLY

